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.(D) عمودیا على المستقیم (B) نصف المستقیم ارسم


.......... = 755,2.......... = 4,36
.......... = 90,235.......... = 4,87

.......... = 0,07189


الكسور المساویة لهذه الاعداد اكتب
.......... = 76,149.......... = 68,25

.......... = 7,98 .......... = 0,02837
.......... = 576,6



الكسور المساویة لهذه الاعداد اكتب
.......... = 695,76.......... = 7,923

.......... = 73,5 .......... = 0,04268
.......... = 8,24



الكسور المساویة لهذه الاعداد اكتب
.......... = 58,2.......... = 0,09726

.......... = 575,74.......... = 8,56
.......... = 415,897




